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Division by Regrouping (With Remainder)
1) Divide 943+7=

P

2) What is 678+9=

3) Find 500+3=

4) Divide 812 by 4

5) What is 725+6=
Division by 10 and 100
1) What is 540+10=

2) Divide 980+10=

3) 430+10=

4) What is 7200+100=

5) Divide 8400+100=

Dividing by Multiples of Ten
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1) What is 200+20=
2) Divide 450+30=
3) Find 320+40=

4) Divide 550+50=
5) What is 600+60=
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Division by Regrouping (With Remainder)
1) 943+7= 134, remainder = 5

g

2) 678+9= 75, remainder = 3
3) 500+3 = 166, remainder = 2
4) 812+4=203

5) 725+6= 120, remainder = 5
Division by 10 and 100

1) 540+10= 54

2) 980+10= 98

3) 430+10=43

4) 7200+100= 72

5) 8400+100= 84

Dividing by Multiples of Ten
1) 200+20= 10
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2) 450+30=15
3) 320+40=8
4) 550+50= 11
5) 600+60= 10
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